Hiirvakvn’ ‘ 7 INSTALLATION INSTRUCTIONS

DELUXE NECK COVERS FOR '14-UP TOURING 6955

Thank You For Choosing Kiiryakyn!

Protect yourself and others from potential injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices
regarding the installation, use, and care of this product.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN

A WARNING RESULT IN POTENTIAL DEATH OR SERIOUS INJURY.
NOTICE This indication alerts you to the fact that ignoring the contents described herein may negatively affect product per-
_ formance and functionality or damage the product itself or the product to which it is being attached.
ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:
1 Right Hand Neck Cover Assembly
1 Left Hand Neck Cover Assembly
2 Down Tube Covers
1 Down Tube Brace Cover — NOT USED ON TWIN COOLED™ MODELS
1 Left Down Tube Cover Clamp
1 Right Down Tube Cover Clamp
1 Hardware Kit Including:
4 3/8" x 1-1/2" x 1" Adhesive Foam Pad
2 5/16" Flat Washers
2 #8-32 x 1/2" Socket Head Cap Screws
2 5/16"-18 x 1-1/4” Button Head Cap Screws
1 #10-32 x 5/8” Socket Head Cap Screw
2 8" Black Cable Ties
3 4" Black Cable Ties
1 Alcohol Pad

YOU WILL ALSO NEED:

Set of Hex Wrenches, Combination Wrenches, Socket Set and Ratchet

These installation instructions contain important information. Ensure that the end user receives this copy and is
NOTICE aware of its importance for future use.
THE END USER’S SAFETY DEPENDS UPON PROPER INSTALLATION OF THIS PRODUCT. IF A STEP IN
A WARNING THESE INSTRUCTIONS IS NOT WITHIN YOUR CAPABILITIES OR YOU DO NOT HAVE THE CORRECT

TOOLS, HAVE YOUR DEALER PERFORM THE PROCEDURE. IMPROPER INSTALLATION OF THIS
PRODUCT COULD RESULT IN DEATH OR SERIOUS INJURY.

ACCIDENTAL VEHICLE START-UP COULD CAUSE DEATH OR SERIOUS INJURY, REMOVE THE MAIN
FUSE BEFORE PROCEEDING.

Avoid damage to the motorcycle. Protect painted surfaces with a soft cloth or blanket.
NOTICE

WWW.KURYAKYN.COM 866 277 9598 454 COUNTY ROAD VV SOMERSET, WI 54025 HOE®

6955-11HD-0116 Page 1



Hiirvakvn’ ‘ 7 INSTALLATION INSTRUCTIONS

STEP 1 Read and understand all steps in the instructions before starting the installation. Park the motorcycle on a hard, level surface and turn
IGN OFF. Allow the engine and exhaust system to cool. Remove the main fuse.

STEP 2 Remove the retaining clips that secure the clutch line to the right down tube.

STEP 3 (Twin Cooled™ models skip to STEP 4): Using warm soapy water and a clean rag, remove all dirt and debris from the down tube cross
brace; allow the area to dry completely.
Wipe the cross brace with the included alcohol pad to remove any wax or polish; allow the area to dry completely.
Test fit the included Down Tube Brace Cover; remove the Cover.

Use your fingernail to rub the adhesive backing; this will activate the adhesive. Remove and discard the backing.

Align the Cover; press into place for one minute; full bonding will occur after 24 hours.

STEP 4 Remove and discard the rubber tank tab cover and the front screw from both sides of the fuel tank.
STEP 5 Snap the included down tube covers into place.
STEP 6 Refer to PIC 1. Apply the included foam pads as shown.

PIC 1 APPLY FOAM HERE
Ensure proper adhesion of this product. Remove all grease, ‘ ! T
NOTICE oil, bugs, dirt, and other debris (including wax and polish) from : '

the installation area. Kuryakyn will not provide warranty cover-

age on products or components lost or damaged due to im-
proper installation.

Do not attempt this installation in temperatures below 50°F
(10°C). Proper adhesive bonding ONLY occurs above 50°F
(10°C).

STEP 7 Turn the handlebars all the way to the right. Align the LEFT Cover with the fuel tank

¥ o
tab; insert one of the included 5/16"-18 x 1-1/4” Button Socket Cap Screw and Flat
Washer through the Cover and begin threading it into the threaded frame hole; leave the screw finger tight to allow for adjustment.
Repeat for the right side.

STEP 8 Align the Covers; insert the included #10-32 x 5/8” Socket Head Cap Screw through the top of the Right Cover; begin threading it into
the Left Cover; leave finger tight for now to allow for adjustment.

STEP 9 Locate one of the included #8-32 x 1/2” Socket Head Cap Screws and Left Down Tube Cover Clamp. Insert the Screw through the
clamp; begin threading it into the Cover; leave finger tight for now.

Repeat for the right side.

STEP 10 Finish tighten the all of the screws; ensure that all wiring, hoses, and cables are secured out of harm’s way with the included Cable
Ties.
Secure the wiring away from moving parts, pinch points, or extreme heat. Kuryakyn will not provide warranty
NOTICE coverage on any electrical component that fails due to pinched, crimped, broken, abraded, melted, or frayed
wires.

WWW.KURYAKYN.COM 866 277 9598 454 COUNTY ROAD VV SOMERSET, WI 54025 IO bage 2



Hiiryakvn’ ‘ [ INSTALLATION INSTRUCTIONS

STEP 11 Secure the clutch line to the right down tube with the retaining clips.

ENSURE THAT THE CLUTCH CABLE, WIRING OR ANY OTHER COMPONENT OF THE MOTORCYCLE IS

A WARNING NOT PINCHED OR STRETCHED AT ANY POINT WHEN THE HANDLEBARS ARE TURNED TO THEIR FULL
STOP POSITION ON EITHER SIDE. STRETCHED OR PINCHED COMPONENTS CAN CAUSE LOSS OF CON-

TROL THAT COULD RESULT IN SERIOUS INJURY OR DEATH.

Itis the end user’s responsibility to ensure that all fasteners (including pre-assembled) are tightened before

NOTICE operation of the motorcycle. Kuryakyn will not provide warranty coverage on products or components lost or
damaged due to improper installation or lack of maintenance. Periodic inspection and maintenance are
required on all fasteners.

LIMITED WARRANTY

yn warrants that any Kiryakyn products sold hereunder, shall be free of defects in materials & workmanship for a period of one {1) year from the date of purchase by the consumer

X ng the
1. Kiiryakyn shal
2T 1

or any other
t. Any
customer

wchange, refund an ati
All sales are final on discontinued or cl

WWW.KURYAKYN.COM 866 277 9598 454 COUNTY ROAD VV SOMERSET, WI 54025 IO page 3



